
Adding Doubles Plus 2 (H)Use an adding doubles strategy to find each sumExample: 7 + 9 = 7 + 7 + 2 = 14 + 2 = 162 + 4 = 28 + 30 = 6 + 8 = 
19 + 21 = 13 + 15 = 12 + 14 = 
14 + 16 = 23 + 25 = 18 + 20 = 
30 + 32 = 22 + 24 = 16 + 18 = 
20 + 22 = 11 + 13 = 5 + 7 = 
4 + 6 = 26 + 28 = 24 + 26 = 
17 + 19 = 9 + 11 = 25 + 27 = 
10 + 12 = 1 + 3 = 3 + 5 = 
21 + 23 = 7 + 9 = 29 + 31 = 
8 + 10 = 27 + 29 = 15 + 17 = 
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Adding Doubles Plus 2 (H) AnswersUse an adding doubles strategy to find each sumExample: 7 + 9 = 7 + 7 + 2 = 14 + 2 = 162 + 4 = 28 + 30 = 6 + 8 =2 + 2 + 2 = 6 28 + 28 + 2 = 58 6 + 6 + 2 = 144 + 2 = 6 56 + 2 = 58 12 + 2 = 1419 + 21 = 13 + 15 = 12 + 14 =19 + 19 + 2 = 40 13 + 13 + 2 = 28 12 + 12 + 2 = 2638 + 2 = 40 26 + 2 = 28 24 + 2 = 2614 + 16 = 23 + 25 = 18 + 20 =14 + 14 + 2 = 30 23 + 23 + 2 = 48 18 + 18 + 2 = 3828 + 2 = 30 46 + 2 = 48 36 + 2 = 3830 + 32 = 22 + 24 = 16 + 18 =30 + 30 + 2 = 62 22 + 22 + 2 = 46 16 + 16 + 2 = 3460 + 2 = 62 44 + 2 = 46 32 + 2 = 3420 + 22 = 11 + 13 = 5 + 7 =20 + 20 + 2 = 42 11 + 11 + 2 = 24 5 + 5 + 2 = 1240 + 2 = 42 22 + 2 = 24 10 + 2 = 124 + 6 = 26 + 28 = 24 + 26 =4 + 4 + 2 = 10 26 + 26 + 2 = 54 24 + 24 + 2 = 508 + 2 = 10 52 + 2 = 54 48 + 2 = 5017 + 19 = 9 + 11 = 25 + 27 =17 + 17 + 2 = 36 9 + 9 + 2 = 20 25 + 25 + 2 = 5234 + 2 = 36 18 + 2 = 20 50 + 2 = 5210 + 12 = 1 + 3 = 3 + 5 =10 + 10 + 2 = 22 1 + 1 + 2 = 4 3 + 3 + 2 = 820 + 2 = 22 2 + 2 = 4 6 + 2 = 821 + 23 = 7 + 9 = 29 + 31 =21 + 21 + 2 = 44 7 + 7 + 2 = 16 29 + 29 + 2 = 6042 + 2 = 44 14 + 2 = 16 58 + 2 = 608 + 10 = 27 + 29 = 15 + 17 =8 + 8 + 2 = 18 27 + 27 + 2 = 56 15 + 15 + 2 = 3216 + 2 = 18 54 + 2 = 56 30 + 2 = 32Math-Drills.Com


